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I3 4 9
4=12 4 5
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3 4 9
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tcnl ) il leenss

1+7 2+ 8 8 10
A+B=|34+9 4+10 =112 14
5+11 6"' 12 32 16 18 3x2

() Sl Jlesials panl Adee (523 3 (yighenall Jisk (sym LI pasll )
> A=1[12;3 45 6];
> B =[7 89 10:11 12];

»>C=A+B
8 10
ans C =12 14
16 18

ddgiadl o A Bigiadl Sl Jhd) dua e LLadS b saeeVly Casiall
148V Al Aoyl o 5iB

1 2 0 4
A=|4 6] B=|3 9]
9 8lax 3 Tlax
1-0 2—4 1 -2
A-B=[4-3 6—9] =[1 -3
9—-3 8-—7l 6 1 i

(2) el Jlaxids 2ol dee (533 5 (yigbenal) Jasls (o DLl 2k )
»>A=[12;4 6,9 8];
>»>B=[0 43 9;3 7];

»>C=A—B
1 -2
ans =1 -3
6 1

ddgtiadl S saacy) 22 s o (i gtae Lfi Cpa dolee ‘;_S.‘L.)Lig tapall L3
Al dighad) 8 Caghaall aaal Lslusa (oY)
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1 2
4 6] B=[‘] 3 3
A2

A:
9 g 4 9 Ty,
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C=A=B=

SIS
9 83;{2 4 9 ?EXE

(1+0)+(2*4) (1+3)+(2+9) (1*3)+(@2+7)
C=|(4+0)+(6%4) (4*3)+(6%9) (4*3)+(6*7)
[(9+0)+(8+4) (9+3)+(8%9) (9+3)+(8+7)]
'8 21 17
C=|24 66 54
132 99 83l..,

(%) el Jlerials peall dilee (a3 o (i gpenall JEak (gae OBLl Cayall ()
»>A=[12;4 6,9 8];
»>B=1[033:49 7]
»>C=A*B
8 21 17

ans C =24 66 54
32 99 g3

e 3wd o) bpd @AY dishadl 4 bl il jaie IS Gy oSa

1 2 3 4 1 1 1 1
5 6 7 8 yh=|2 2 2 2
3x4 x4

g:

9 10 11 12
g.*h

1 2 3 4
ans C=10 12 14 16
27 30 33 363..

daudll 4

f(f) dlearinhs (Kan 220 o oxe dadd ) [Adaadl

a=10
bh=5
C=a/b

(inv) 336 Y1 o Y LSl dighan o dighias daud (S
Lo 13 o1y cBagage s § Alealls (Aighins o Aigiadl davill ddee dagi Y 4ils Iola
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X=A"B

lgina g
X =inv(4) =B
(M * 1) sl D) cRaye Aghead) (5 o Layd e
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12 5 6
“—[3 4l ‘E’_[? 8

(a/b) &b Je aieud zb o
>a=[12;3 4];
> hb=1[56;7 8]
ORa=1|[1 2;3 4];b=1[5 6;7 8];
X =inv(b) *a
o LS (abiy Bsine (/) Aacl) Adle LU PIA o gy Dyeaie (igns deniiay

1 2 3 4 11 1 1
5 6 ?8],1‘1:[2222]
9 10 11 12lay, 3 3 3 3.,
»g=[123 456789 10 11 12];
»>h=[1111222 2333 3];

g./h
1 2 3 4
ans 2.5 3 35 4
3 33 36 4

:‘é_”f}?\ JE

g:

Legiond 5 Lagayn 5 Lagayh g Lagren duals 2a & (b stas S (HLW)

:Abghuaall J303 Lualil) el

;b dng A0V digaad) alic Jaol [Jba

24



7 89
G-2.1
26-1 .2
HW) Z+1 .3
5
1. »>G6G=1[123;45 67 8 9];
> G —2
-1 0 1
ans 2 3 4
5 6 7
2. »2+6G—1
1 3 5
ans7 9 11
13 15 17

tas o3 AY) Adghad)l jualic Jaal [l

1 2 3 4 1 1 1 1
G=[56 ?8,H=2222‘
9 10 11 12 3 3 3 3

G+H .1

ans — H .2

26—H .3

2(G-H) .4

HW) 2.G .5
»G=[123456789 10 11 12];
»>H=[11112222;33 3 3];

1. »G+H

2 3 4 5
ans7 8 9 10

12 13 14 15
2. »ans—H

1 2 3 4
5 6 7 8
9 10 11 12

3. »2xG—H
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1 3 5 7
ans8 10 12 14
15 17 19 21
3. »2+*(G—H)
0 2 4 6
6 8 10 12
12 14 16 18

1 2 3 4 11 1 1
g=15 6 7 8| h=|2 2 2 2

9 10 11 12 3 3 3 3
g"r—1.4 gxh .l
(1./gHW) .5 g./h .2
g.- "2 .3
Joad

»>g=[1234567 8910 11 12];
»>h=[11112222;3333];
1. »>g=h
1 2 3 4
10 12 14 16
27 30 33 36
2. »> g./h
1 2 3 4
25 3 35 4
3 33 36 4
3. »g."h
1 4 9 16
25 36 49 64
81 100 121 144
4. »g."—1
1 05 03 025

0.2 0.1e 014 012
0.111 0.1 0.09 0.08
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aagl &5 B g A dighadl a8 Jadl [

a=[y 5 ¢ B=[gl
1) C =[A B] 4)F = [4;A]
2) D =[A A 5) G = [B;B]
3)E =[B B] 6) H = [4; B]
»>a=[123;45 6];
» b= [7;8];
1) C =[A B];
c-1 237
4 5 6 8
2) D =[A 4]

p_1 2 31 2 3
4 5 64 5 6
3) » E = [B BJ;

7 7
E_S 8
4) » F = [4; A];
aagl B g A dighadl ad Jaal [0l
2 3 17
A_L} 5 6l B_[s]
1) C =[A B] 4) F = [A; 4]
2)D =[A A] 5)G = [B;B]
3)E = [B B] 6) H = [4; B]
»>a=[123;45 6];
>» b= [7;8];
1) C=[A B];
1 2 3 7
C=4 5 6 8

2) D =[A 4]
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p_1 2 31 2 3
4 5 64 5 6
3) » E = [B B];

[4; A];

Ul
-
@ v
I &y

6) > H = [4;B];
error dimensions are not consistent
Al o Laelas jualial) s
Elements Ascending Arrangebastas jalisl) i .1
e e baelan paaliall il SOTT Slag) Jasicss 4l dlls &
Sy
Qe L spualic casipiacla =90 4 5 100 1 4asd [Jta
»>a=1[904 5100 1];

> sort (a)
ans1 4 5 90 100

V15l Jexicns ool Aigpead) agp Al .
Sort( ddsaasll aud ,2)
Caghall ulod o i o eais
Sort(ddseadl aul,1)
saacY) el e i 4y diaiy
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145y ddgdaall gaelanll Cangll aa [Jla

1 4 2
.- |15 6 30
2 90 4
1 2 50

:5aasY) u-ului‘_,lﬁ g
»>a=[142;15 6 30;2 90 4;1 2 50]
> sort (a, 1)

1 2 2

1 4 4

ans > 6 30

15 90 50

rcighall (ulad o .o
» sort (a,2)

1 2 4
6 15 30
ans,; 4 9o
1 2 50

:Elements Descend Arrangeldjls jaliall cuiys .2
axid) yualic il AV Sle) Jasios sdaial) quis

fliplr (sart (5-5 JERRA ?..,,‘_l))

Wl @ asaadl o) Qb
a=9045 1001
»>a=[9045 100 1];

> fIipET(SGTt(a])
ans 100 90 5 4 1

t oY) Gty ) aal Oleaials (505 :Adguaal) uiiyi

sort (Eﬁji.mll ad, 1, ’descend’) sort (Eﬁ_;é_mll ad, 2, ’descend’)
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saecY) el o i 4y dains Gigiall bl o cunifi as aaly

toulad e Wl 45V ddshadl Ci)y /0

Cagtall .o saacy)
1 4 2
15 6 30
A=75" g0 4
1 2 50

til WS 52 Gaes LS ddghndll coy
> A=1[14 2;15 6 30;2 90 4;1 2 50];
» sort (4,1,'desend"); .. descend

15 90 50
2 6 30
ans ;4
1 2 2

t b LS Qagall el e Wl ddghaall (oyi i
> sort (4,2, descnd’); wswadescend

4 2 1
30 15 6
MSgn 4 2
50 2 1
dbgiaall ypalic poaray siualy i Alay)
lgiesd A ddgocadl)
1 15 2 11
4-23 1 45
3 1 15 7
1 4 9 10

:Aighad) b paic ) slay)
»>A=[115211;23145;31157;149 10];
» B = max(4);
ans B=23 15 15 11
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) A g dad ST OBl maliy 330 Adgead)) sascl (o agae US 8 [AaNla
e Sl any Glld dayg daie Bygea b aaliilly lgde Jeas

> C = max(B)

ans C =23 OR B = max(max(x))

Aighaal) 4 paic ual sl
> B = min(A4)
ansB=1125
> C = min(B)
c=1
A aang A jral (L) maliy 3aL ddsiiadll Saacl (o dgee US 8 [Aliadla
e el an @lld s daie Bpa 8 il Ll Juas

:ddghaal) palic ggana o)
> h = sum (4)
ans h=28 21 30 33
> § = sum (h)
ans C =112 OR h= sum(sum(ﬂ])

Bas Ao ddgtadl Bl (e agac IS 3 paliall goana alay) o malind) Jary [ABadke
mill 038 pen o dany @l ey 4aie foa b il lple Jeas ) Q6w
AT el bl ey

:ddghianl) yalic Gpa uals alay)

> f = prod(A4)
ans f =69 60 1080 3850
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» g =prod (f)

1.72
ans g =-—,— + 10 OR f= prad(pmd(ﬂ])

148 ghuaall lad alag)

Z 3aflal ey asee JSE e (A) dasiad) ki e Joass
» Z = diag(A)

1

1
ans /Z = 15

10
rddghaall jhé jalic gsanasla)
W50l gonall jayis Sb b g (A) digiad) jli jalic goane o Juans
»> W= sum(diag(ﬂ])
ans W = 27

D Cyeall Juals oS)
> D= prad(diagr[ﬂ])
ans D = 150
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Bl A (b (bl aa
bl dalless ape (o li€a Al Sl acll Clsal e 220 39asy k) da] poas

Adlide @hhy cullul,

tribl) aesl) s
pas S oy gy (figure) JSAL G L dals s dgaly Ol Al el
iy (X — axis, y — axis,z — axis) diladl) § ageal) S LaY) Hslaall alsls
meol) ot o DA e lsal Jaydy Wl s e (figure) JSall jaje dals

(e paoll Badng oy 5S)
:(plot) sl Slay
axie ol yuaie S0 s il IS8 AR UL el Sl A5 Ll a8l
vy el il A
Dl Lgltie clpiial) aaea 05$ of Jayd
10 A des jalsl 4l ded Jf X asiall sl /Jbie
x =1:10;
plot(x)
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'u Figure 1 EIEIQ‘

File Edit View Insert Tools Desktop Window Help k]

NEHe k| RRUDEL- Q| 0H| 8D

o Note new toolbar buttons: data brushing & linked plots ﬂ @g Play video x
10

gl 4

gk 4

X asiall ppe (g (1 =X < 4) 55l aaad) X asiall G ADke au /e
Ex/
=>x=1:4;
>y =x."2;
plot (x,y)

rn Figure 1 Lilﬂlg

File Edit “iew Insert Tools Desktop Window Help E

NEES | k| ARANTDEA- G DE| =D

o Mote new toolbar buttons: data brushing & linked plots jf @ Play video =
16

! 14 L i

12+ .

1 1.5 2 25 3 35 4

Ex/
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= x=1:10;
»>y=x."2;
»>z=x."3;
= plot (y)

> plot (v,z)

'- Figure 1

File Edit View Insert Tools Desktop Window Help

DEde [ M ARATDEL-|E

08 =0

1000

0

o Mote new toolbar buttons: data brushing & linked plots jf @ Play video X

900

800

700+

600 |

500

400

300

200

100

35
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x=-3,-2,0,1,2,3

y=2,4,6,8,10,12

»>x=[-3-2012 3]
»>y=[246 810 12];

> plot (x,v)
rn Figure 1 [ == g
File Edit View Insert Tools Desktop Window Help ~
NEEHL| L ARAODEL- 2|08 aD
@ Note new toolbar buttons: data brushing & linked plots g % Playvideo X

12

"t

10

gl

y=2:2:83x =0:0.2:2 ;pgandl eu)i o [Jha
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= x=0:02:2;

By =2:2:8;
> plot (x,y)
= x=1:4;

error using = plot
vector must be the same length

Solad Ayl Aad Pl A G —T0 < X < T 5534l o dadlgll X Aghll Cum s Qb
.3.1416

> x = —pi:pi; OR > x = —pi:pi;

By = sin(x); > plot (x, sin(x);

> plot (x, y)
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rn Figure 1 @M

File Edit View Insert Tools Desktop Window Help &

Ddde | M| AROLDEAL-2|0E a@d

o Note new toolbar buttons: data brushing & linked plots j‘ @, Play video X
1

M 0.8

0.6

041 .

0.2

0F -

02} 1

-04

-0.6

-0.8

_1 1 1 1 1 1 1
4 -3 2 -1 0 1 2 3

=27 = X < 27 554l e Aadlsll Aghll ol Can o)l [HLW

05800357 = X = T 5534l) paa T3 —T0 (g Anlll gl i sl [

» x = —pi: 0.5:pi; OR » x = —pi: 0.5:pi;
>y = sin(x); >> plot (x,sin(x))
= plot (x,y)
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s =

B Figure 1 @Eﬂ
File Edit View Insert Tools Desktop Window Help k!
ODdde kAT« S/0E nOd

o Mote new toolbar buttons: data brushing & linked plots ﬂ @ Play video X
|1

08 R

06 R

04+ R

0.2+ e

0F -

N2r -

N4ar -

D6F -

N8r -

_-1 1 1 1 1 1
-4 3 -2 -1 0 1 2 3

0.5 5aliyg =27 3> X 3> 27 55l Gana Aadlgll gl ol Cum aus)l [HW
case LSy PLOT A (e aaly cledin) Gyl (0 awy oo ST 2in (Ko [Aadla
reelinll
> linspace (0,2 = pi, 30);
>y = sin(x);
>y, = cos(x);
> plot (x,y,x, V1)
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>
Figure 1 ==

File Edit View Insert Tools Desktop Window Help ~
DEEHS | | RKRITODENL- S| O0EH a3
0 Note new toolbar buttons: data brushing & linked plots % ljJ Play video x

1

08

06

04

02

or

02}

04|

06}

-0.8}|

4

:plot(x,y,'str') juy
G Y Jsaal) Jlasins) (Ko ahaiill g5 5l Jaghaall olsll ol daghadl) JSal Gais dilay

adadil) ¢ g3 Lall g RN
Ay ~ dals Y sl R yaal
* dand | 7| bl G ] K 29
X1 Ga |- | abayasyls | M| Magneties | W L
tlesliplE) | 0| gulw | B 3 C | Cyanjs<s

: Jarien BlEH (g Jaghd Juasi ot e (agaiall Bl sl
b=[12345]ya=[12 34 5] gzl [Jlia
(* ) Badl) IS5 L) e D @ Gagaiall syl
»>a=[123 45];

>»>hb=1[123 4 5]
> plot (a,b,” ")
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B Fgure 1
[ File Edit View Insert Tools Desktop Window Help

el sl ) Al el e o
> plot (a,b,’ *17")

File Edit View Insert Tools Desktop Window Help
FEC IR PRI

| o Note new toolbar buttons: data brushing & linked plots % @ Play video
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- radl Ol e sl bad ) ddaiil) g e L
» plot (a,b," — —g")

' Figure 1 [E=REER)

File Edit View Insert Tools Desktop Window Help ™

DEEHS | B RRAODEL- S| 0E am

o Note new toolbar buttons: data brushing & linked plots y{ @, Play video x
5

45} P §
4| - .
35| = i
3| ) 2
25} - |
2_ 4 -

15 g B

[idaada

Lae il g5 ) e cues ged Jem Y -

(*) Aenis (+) pon e laddl s e (g e ged pome ¥ -

e (ylllg Ladl g gig Adatill g Jani grad Jemy —

» plot (a,b," — —g") e

error in line type agreement

»x=1[12 3 4];
> plot (x, exp(x))
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Y Figure 2 e

File Edit View Insert Tools Desktop Window Help k]

DEdde M AKODEL- S 0H ad

4
10
2.5 x T T T T T T T T T

151

051

5alls Baasall gl il y = tan(sin(x) — sin(tan(x))) D aw)f [Jla

T
.Esah} mM=X=—T

> x = —pl:pif20:pi;
> y = tan(sin(x) — sin(tan(x)));
> plot (x,y)
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rl Figure 1 [ESRIERT

File Edit View Insert Tools Desktop Window Help N

D8de M AXONHVDEL- S| 08 0D

0 Note new toolbar buttons: data brushing & linked plots ,{ @9 Play video X
50

ig 40 ~ .
30 .
20 .

10} .

)l Lld 8 A0k Al ani 1 gTid ey
@g@@hje‘ﬁmg}ﬂzrzh sy danall £ Aughll Gyl /Ul
|

>t = 0:pi/100:2 = pi;

> y = sin(t)
> plot (t,y), grid
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n Figure 1 E‘Eﬂ
File Edit View Insert Tools Desktop Window Help N
QEde | kR TBLL- G| 0D
o Note new toolbar buttons: data brushing & linked plots ,‘{ ljJ Play video X
1
i 0.8
! 0.6
04
0.2
0
-0.2
-0.4
-0.6
-0.8
-1
[etaadia
Sl plot e Wil ob grid ey .1
» plot (x,y), grid aily pul gl
> plot (x,y) L A<l el
> grid
> grid dadé syl jedas
> plot (x,v)

Sy LS s grid A Ay .2
> plot (x,v), grid, grid
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s Ay o s, (subplot) 3

plot L) Sla) Ja a2 g Baaly 838U 8 dladic Clagu) Bae aag ) 138 a5k
9 Al dalal) danally

> subplot (T, c, iy Al Ala) 3 J)

8aaly dadea b ST ol Gl s ahs
1 oging Oppa o et 20 1 adl) 26 iiall saaly daiea (3 A5Y) sl sl [Jlia
f=x, g=x? h = x*?
> x = linspace(0,1,20);
> f=x;
> g=x"2;
> h=x."3;
> subplot (3,1,1);
> plot (x, f);
> subplot (3,1, 2);
> plot (x, g);
> subplot (3,1, 3);
> plot (x, h)
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Bl iguer =B

File Edit View Insert Tools Desktop Window Help
FEEEIR Y A EE T
o Note new toolbar buttons: data brushing & linked plots £ @ Play video




rn Figure 1 @@M
File Edit View Insert Tools Deski(E ;\ﬂn‘dow Help ) N
Ddde | M ARKRODEL- S| 0EH oD
o Note new toolbar buttons: data brushing & linked plots ,{ @9 Play video X
1 T T T T T T T T T
051 .

Da) ol e ny0ks vie )l (Dl pre s [lay daga Aiadla

pladl danjl ) 88 )51 aansii (5 Bany dndea & Boanall Bl Caves A5V AN ool [ e

= x=0:0.01:1;
» y =log(x);

> a=0:0.01:10;
> b= exp(a);

y=Inx),0=x<1 - 0.01 s,

b=e%0=a=10 —0.01sL),

> subplot(2,2,3);

> plot (a, b);

> subplot (2,2,2);

> plot (x,y)

OR
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> subplot (2,2,3),plot (a,b);
> subplot (2,2,2),plot (x,v);

-.:.iFi'gure 1
[File Edit View Insert Tools Desktop Window Help N

NESEdL KA EL- S0 aDd
o Note new toolbar buttons: data brushing & linked plots £ @ Play video

Xl S X =21 5l e Basly dadea 8 A)Y) ASY) Jeall sl [Jla
0.1s5Lx

y = sin(x) = figure 1.1a:sin(x)

z = cos(x)— figure 1.2b:cos(x)

a = 2sin(x) cos(x) — figure 1.3¢: 2 = sin(x) .* cos(x)

b = sin(x) / cos(x) = figure 1.4d:sin(x)./ cos(x)

3 x = (0:0.1:2 = pi);

>y = sin(x);

» z =cos(x);
Wrg= 2% sin(x).* CUS(I);
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> b = sin(x)./cos(x);

> subplot(2,2,1)

> polt(x, y), title (figurel.lab:sin(x)")

> subplot(2,2,2)

> polt(x, z), title ('figurel.2b:cos(x)")

> subplot(2,2,3)

> polt(x, a), title (' figurel.3c: 2 * sin(x) .» cos(x)")
> subplot(2,2,4)

> polt(x, b), title (' figurel.4d: sin(x) ./ cos(x)")

B Fgure 1 e S
File Edit View Insert Tools Desktop Window Help N
DEdde | M ARKOILE,L- @ 0E D
o Note new toolbar buttons: data brushing & linked plots p{ @, Play video X

figure 1.1a:sin(x) figure 1.2b:cos(x)
1 1
0.5 / : 05
0 : 0
-0.5 . -0.5
-1 - L : -1 L L L
0 2 4 6 8 0 2 4 6 8
figure 1.3c:2*sin(x).*cos(x) figure 1.4d:sin(x)./ cos(x)
1 100
80
43 60
40
0
20
05 g
-20
-4 -40
0 2 4 6 8 0 2 4 6 8
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) D pliab 8 aufiss Jad aes)l Jaxiow :PIOE3 jlay)

Z, = sin(x)
Z, = sin(2x)
Zy = sin(3x)

> X = linspace(0,3 * pi);
» Z, =sin(x);

» Z, = sin(2x);

» Zy = sin(3x);

>y = zems(size(x])
>y, = anes(size[x])

> Y3 =Yz /2

0 =X < 37 55l Coen A5V Jlsall pnsf [Ja

X Bagoadl alad Guid gl &jun dighna Yy o Lile

Va =, /2 Al e Yy

> plot3(X,vy,2,X, V5,22, X, V3, 23), grid
> Xlabel('X — axis"),ylabel('y — —axis"),zlable ('z — axis’)
» title( ' figurel.l = sin(x),sin(2x),sin(5x)")

o paa S gl Gl Glewyl) auast desieg awplls pald Slol:hold on Sl

y = sin(x)
z = cos(x)

kel
[adaada

Al U gl Y sl L1

plot ) J& hold on Yl acass .2

SN el i

0.15:L30 = x = 10 soasdll 5533 Gawa X dgh0!
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= x = 0:0.01:10;
>y = sin(x);
» z = cos(x);

> hold on
= polt (x,v)
> plot (x,z)
Vu Figure 1 ESEEE ™)
File Edit View Insert Tools Desktop Window Help ~
DEHdS K RROPEL-|3[0E|nD
@ Note new toolbar buttons: data brushing & linked plots % (25 Play video x
1
08f
06f
04t
02t
ot
02}
04}
06}
08}
-1
N

0 e s da8 50 3 x Ll y, = cos(sin(x)) s 3, = cos(x) allall aci [HW

AT L g

:barh g bar awl) gla)
:bar( ) awdl Slag
il ol alime (<& Alsadll bl (mje e dend aladY) 4308 Loly awy 8l
Slgaiall o paliall e maall gy anly yuiie 82Y1 o3 Jasd o) (Kar (Al

oglia i) aladd 0sS8 of Jayd pania

52



[JGa
>x=[123456 7]
>y=[24689 12 14];

bar (x,y)
( Figure 1 Lﬂ'&r
File Edit View Insert Tools Desktop Window Help k]
NESHS KRN0V EL- G| 0EH|aD
0 Note new toolbar buttons: data brushing & linked plots ‘,‘f @ Play video X

14

12

10

[
»x=-2.9:02:29
>y = exp(x)
bar (x,v)
OR
bar(x, exp(x))
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Figure 1 O | B |3

File Edit View Insert Tools Desktop Window Help o

Oddse | h|RAONVDEL-|B|0EH | 0O

@ Note new toolbar buttons: data brushing & linked plots jf @) Play video x )
20

18

16

14}

12+

101

:harh au)l) jla) .
Agilieg JSAD Al sl ARyl ULl awy o dexd 2l 351 ) 51
L8 ol anll e (g ia oS Aald) 8D

»>x=-—-2902:29
> barh (x,exp(x))

Figure 1 = | B |- |
File Edit View Insert Tools Desktop Window Help k]
jjﬂé [% "\-'\-i"?@@df' E) DE i

@ Naote new toolbar buttons: data brushing & linked plots ﬁf @_l) Playwideo
3

=

Lo
ma

-2
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stairs( ) (ale) JS& e Al age)ll daad Jasiad 821:StAirs sl Slag)

Jos.
= x=—2.9:0.2:2.9;
> stairs(x) exp(x)

rn Figure 1 E@g

File Edit View Insert Tools Desktop Window Help k

DEES M RAIODEL- S |0E| a0

o Mote new toolbar buttons: data brushing & linked plots jf @Q Playvideo X
20

18| .

3 I osh |

16 .

ul .

12} .

10} .

[dba
»>x=[24681012];
»>y=[13570911];
> stairs (x,y)

| B Figure 1 e = |
“l| File Edit Wiew Insert Tools Desktop Window Help ~
N EEEE IR - = =
@ Note new toolbar buttans: data brushing &t linked plots 4 =8, Play video >

2 11
P
24, 10 4
230

al

al J

7l J

6 4
F sl i

4+ i

3+ |

2+ |

1 . \ .

2 2 4 & B T 8 2 10 bl 12
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oesll lsie ALYy Sl anu)ll (flgie AdL)

n Wl gall dauy & i A0S title("EEXE") ) aall Slad ans iS5 L1
lsiaS asyl AL
2<a<12 sl e a o We 'linear’ ylsall abcly by @ cagaiall sl [Jla
b=1234506,2 sl

»>a=2:2:12;
>b=[12345 6]
> plot (a, b)
> title('linear”)
OR

> plot (a, b), title('linear")

uFigurel = | =)
File Edit View Insert Tools Desktop Window Help N
DEES RN OPEL- S| 08 =D

0 Note new toolbar buttons: data brushing & linked plots 9{ @ Play video X
linear

6

55 _

5+ -

45} .

4+ 4

35 i

3+ -

25} b

2+ _
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:figure 838l 3k (.2
insert — title
adll "exp(a)’ awll Olsie dila) ae saasal) Bl Caa A5Y) AN au)l /O
0.01 Wlaae 83y 0 =@ = 10
»>a=0:0.01:10;
> b= exp(a);

> plot(a, b);
[l ! I
> title(” exp(a)’)
B Figure 1 Lilﬂlg
File Edit View VInsert Tools Desktop Window Help ~
Dagde | | RRARODEH- S| 0E =m
o Note new toolbar buttons: data brushing & linked plots 3{ @) Play video x
x 107 exp(a)
25 T T T T T
2+
151
1+
05
0 L
0 1 2 3 4

SRl =IN(X) meosll lsic A8Lia) pa sl 85al) con A3Y) A aus) (H.W)

0.01 e sabnd = x < 1

sdsandll :\SL\A}’ ik dUA 1Y 9 Xy saall dad A3l
oY) Gokie
x lable("text )olud) jeaa Ao
y lable('text”) «lalall jeaa o
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Al ofgie lacly i By 0 < x < 27 55l cowa €OS(2X) A anfl /I

LYy — axis) jeaall lgiey X (X — axis) sl olsic 'basic’
> x = 0:pi/20:2 = pi;
>3y =cos(2*x);
> plot (x,y)
> title ('basic")
» xlable('x — axis")
> ylable('y — axis")
OR
> plot(x, y), title('basic’),xlable('x — axis'),ylable('y — axis')

(B Fgur 1 (= [ o]
File Edit View Insert Toels Desktop Window Help ]
NEEe | k| RACDEL- Q| 0| =0

o Mote new toolbar buttons: data brushing & linked plots ﬂ ljg Play wideo =
basic

1

0.8 —

0.6 —

0.4t .

0.2 —

D_ -

y-axis

N2+ -

04t i

-0.6F -

-N0.8F -

A 1 1 | 1 | 1
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figure 5386 &b e .o
insert — xlable
ylable

Aady (35<8 o (06, 7)) (Haay) i annll Lila Jals Gl e gana ol AalS A0S
tosapall 1agdl V) Sl Jastins csalially ) saad) cililaa] Gaua aw)ll

text (x ysa Lo 41z é_&njy_lgu‘}:- Aozl éj.nj fanag J_l).ellu.nﬂll’}

(2,0.2) aisall 2ic ‘equationy = x' jail sl [Ja
> text (1,0.2, equation = x")

[ Figur= 1 seee a L= | = i
File Edit View Insert Tools Desktop Window Help El
EE IR AR ELD
o Mate new toolbar buttons: data brushing & linked plots jf @ Play video X

II ; . . . basic . . . B

08

06

04

D2y equationy=x

D_

02+

04k

DE6F

legend Hagy) Jasiws (Jled) Jadadall Jaly 46<0*
legend (' ")
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5Ly 0 < 0 < 1 554l saal dnien S b = exp(a) ¥ = In () Gl au)l /i
olsics (figure —a') Js¥) aw)ll Glsic dila) 2d0.01 5303 0 < a < 10, 0.01

(figure —b) Sl anl
> x = 0:0.01:1;
> a=0:0.01:10;
>y =log(x);
> b= exp(a);
> subplot (2,1,2),plot (a,b), title ('figure — a’)
> subplot (2,1,1),plot (x,v),title ('figure — b")

4B Figure 1 L | D S
QlEteEdit’ View; ‘Insece “Fonls® Deskiop. Window) Help ' 2
DS EHS | B RRAWDEL-S | O0E | =m

o Note new toolbar buttons: data brushing & linked plots "‘{ @ Play video x
figur-b

0

At

2

0 01 02 03 04 05 0.6 0.7 08 0.9 1

x 10* figur-a
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Applications

Q1) Create the following three matrices :

2 4 —1] -2 5 0 0 3 5
A=41—5,B=—32?‘,C=210]
6 1 4 -1 6 9 4 6 -3
@) Calculate A+B and B+A to show that addition of matrices is
commutative
(b) Calculate A+(B+C) and (A+B)+C to show that addition of
matrices is associative
(c) Calculate 5(A+C) and 5A+5C to show that when matrices
are multiplied by a scalar , the multiplication is distributive
(d) Calculate A*(B+C) and A*B+A*C to show that matrix

multiplication is distributive .

Q2 ) Use the matrices A,B and C from the previous problem to answer
the following :

(@) Does A*B = B*A ?

(b) Does A*(B*C) = (A*B)*C ?

(c) Does (A*B)* = B** A" 2 ( t means transpose )
(d) Does (A+B) =A' + B* ?

Q3) Create 4x4 matrix having random integer values between 1 and 10 .
call the matrix A and using MATLAB perform the following operations.

For each part explain the operation

(@) A*A (b)) AAA  (c) det(A) (d) inv(A)
Q4) Plot the function f(t) = % for -3=x=5
Q5) Plot the function f(t) = ;‘:_% - g—x for S5=x=10

Q6) Make two separate plots of the function

f(x) = (x+1)(x-2)(2x-0.25)-e* one plot for 0 < x < 3 and one for
-3=X=6

Q7) An electrical circuit that includes a voltage source v with an internal
resistance 7 and a load resistance R, is shown in the figure . the power P
dissipated in the load is given by
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z
US HL

(Rp+rs )?

Plot the power P as a function of R, for 1 =< R, < 10Q, given that v,
12v and 1,=25Q

Q8) Evaluate the following expressions without using MATLAB . check
the answer with MATLAB

(a) 543 > 32/4
(b) y=2x3>> 10/5+1 > 22
(c) y=2x(3> 10/5) + (1 > 2)?

Q9) Given:a=6,b=2,c=-5.Evaluate the following expressions
without using MATLAB . check the answer with MATLAB

(@) y=atbh>ab<c

(b) y=-6<<c<-2

(c) y=b+c>=c>alb

Q10) Use MATLAB to carry out the following multiplication of
polynomial s :

(x+1.4)(x-0.4)x(x+0.6)(x-1.4)

Plot the polynomial for -1.5=x=1.5

Q11) Divide the polynomial -0.6x°+7.7x*-8x*-24.6x+48
By the polynomial -0.6x3+4.1x-8

Q12) Divide the polynomial x*-6x3+13x%-12x+4 by the polynomial
x3-3x%+2

Q13) Determine the solution of the equation e®3* -/x =3

Q14) Determine the solution of the equation 3+3 sin x= 0.5x>
Q15) Determine the three positive roots of the equation
x3-8x2+17x+/x=10

Q16) Determine the positive roots of the equation x*-5x sin(3x)+3=0
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